AC=4AB T ZA =60° 5 =AF ABCHhH %, CB%#2: 1IcADT55%D, /B
D2HENENAC ERXDEEZEELL, ADEBE EDXREEF LT3, mAICET
2B, CORBARZ MUE a,b £ LT, ROZNZNDORY FUE o, b TEDYE,

(1) AB(F=7 LA P I3 A L5 D R RER OB TH3)
(2) BE

(3) MF DR AT BMENT bV

MR 2 K]
ﬁ o1 A?) e izdh3ry od
o T e CME:J—(ZE—(-T)
Ap = =t b vy

P = f(20%F)
SRR RS S

) ﬂ{‘)ﬂn 702 L 9 ? 20 2R¢
@%M a4 BC'ZLEJI‘CZ

- s “i: - 7
o= (‘H@*l*‘ﬁ‘lwéba s fR =4 2R 4B ) v e

= -4 8395 f“ﬁ% :Zta*‘t? @
¢ 2 483 be = (13 st 155 Hbz T3¢
3 prg 2 OB FRBETRIOS CETEAT P L o o sl
, ‘ { e _ 3 L T
Llﬁ%'—_———/*'lic—\-\ﬁg BA I T3+ |
R NEET!
R TITEh v R Gy G g o g% =24
o Nt e Ml . =2k
VE i (B +1 ey
—— = (,"_"_ o =
S B—E? _ -—i+-:-l——b> G S = 2
\“/37""'\ C:——L——— 2 L
R - o VT3 3 ¥
- = Sk @AY ACT
Al d S BE -
= 517 "“T?:\}T?fi 23*_@,:_3/\,
= 0 +S |0 e ! 2 o
y _/_________,_’__________u_.
s SE =
= etye b
Vo |

1 #5458 http://www.mathtext.info/



